
TILT WALL MOUNT 
FOR LCD,PLASMA,and LEO DISPLAYS 

INSTRUCTION MANUAL 

Display Size: 26" to 55" 
Maximum Load: 45 kg 
Mounting Pattern: 400 mm x 400 mm (l 5.7"x 15 7") max 

Tilt Range: 15 º down 
Profile: 3.5 cm (14") 

o UpperV\/all Plate (xl)
O 1\11ount Arrn (x2)
o lnstruction Manual (xl)
o Hardvvare Kit (xl)

O Read these instructions before you begin. lf you are ur1sure 
of a11y part of the process, contact a professional contractor or 
installer for assistance. lmproper installation can result in injury 
or damage. 

f) The wall or mounting surface must be capa ble of supporting
the combined weight of the mount and the display; if not, the
structure n,ust be reinforced.

8 Locate pipes, 1Nires, or any other hazards in the wall vvhere you 
wish to install the rnount before drilling. 

O Safety gear and proper tools must be used. Failure to do so 
can result in injury or damage. 

e A rninin,urn of tvvo people are required for inslallalion. Do í1Ul 
attempt to insta!! this mount alorie under ariy circurnstances. 

O Follo\1\1 all instructions and recommendations regarding 
adequate ventilation and suitable locations for mounting your 
display. Consult the owner's 177a11ual for your particular display 
for more i11formation. 

Lh CAUTION: This vvall rnount is interided for use only \l\1ith the 
rnaximum vveight of 45 kg (100 lbs) Use \1\/ith heavier than the 
maximum weights indicated may result in instability causing 
possible injury. 

o Phillips Head Screvv Driver or Screw Gun
o Electric or Portable Drill
□ 3 mm (1/8") Dril! Bit and Stud Finder for Drywall lnstallation
o 8 mm (5/16") Masonry Bit for Concrete lnstallation
o Level

(A) Concrete Anchor (x4)

(B) Drywall Screw (x4)

(C) M4x25 Screw (x4)

1�

(D) M5x25 Screw (x4)

(E) M6x30 Screw (x4)

(F) M8x30 Screw (x4)

{Jnm• 

(G) 8x14x11 Spacer (x4)

� 

(H) 8x14x6 Spacer (x4)

� 

(1) 5x16x1 Spacer (x4)

� 

(J) 6x16x1 Spacer (x4)

� 

(K) Bubble Leve! (x1)

ffl LL ffl' 

Assemble the mount by carefully snapping the right and left 
plastic sides onto the upper and lower wall plates, as shown in 
the illustratio11 (see Fig. 1). Do not force any ofthe connections 
as it may r·esult in breakage of the plastic parts. 

Part 1 A - Mounting to the Wall (Drywall) 

IMPORTANT! For safety reasons, this mount must be secured 
to at least two wood stucls no less than 16" apart. The stucls 
must be capa ble of supporting the co177bi11ec;,J v,;eight of the 
mount and display. 

O Use a high quality stud finder to locate t1No acljacent studs 
v,,1here you vvish to insta!! your mount. /\Aark both edges of 
each stud to help identify the exact center. 
NOTE: You must use the center of each stud to avoid cracking 
or splitting the vvood during installation. 

f) Place the assembled r77ount against the wall over the r77arked
studs. IV1ake sure it is level.

8 While another person holds the 177ount in position, mark four 
locations (two per stud ) for securing the mount to the vvall 
(see Fig. 2) 

O Set the r77ount aside and clrill a 3 mm (1/8") pilot hole at each 
r77arkecl location. 

E) Pace the mou nt back against the vvall and atta ch it using the
M6.3 x 63 scrcvvs (/\) and washcrs (B ) providcd (scc 1:ig. 3) Do
not over-tighten these screws and do not release the 
mount until all screws are in place. Ensure that the mount 
remains leve! after all screv,;s are secured. 

' , 
, , 
,,, 
' ,
' '

= 

;, 

= 

= = 

= = 

= = = 

= = = 

Part 1 B - Mounting to the Wall (Concrete) 

= = 

= = 

IMPORTANT! For safety reasons, the concrele wall musl be 
capable of supporting thc combincd wcight of thc mount ¿ind 
the display. The r77anufacturer takes no responsibility tor failure 
caused by walls of insufficient strength. 

O Place the asser77bled mount 
against the 1Nall in the desired 
location. Make sure it is leve!. 

f) 1/Vhile another person holds the
mount in place, mark four
locations on the vvall for securing
the 177ount (see Fiq. 4).

Fig. 4 



Part 1 B - Mounting to the Wall (Concrete) (continued) 

E) Set the n,ount aside and drill an 8 mm (5/16") hole at each
rnarked location. Re1,,ove any excess dust from the holes.

O lnsert a concrete anchor (C) into 
each hole so that it is flush vvith 
the concrete surface (see Fig. 5). 
A han1mer can be u sed to lightly 
tap the anchors into place if 
necessary. 

NOTE: lf the concrete vval I is 
covered by a layer of pi aster or 
dryvvall, the concrete anchor 
rnust pass corr1pletely through 
the layer to 1est flush vvith the 
concrete surface. 

8 Pace the rnount back against the 
vvJII Jnd JttJch it using thc �/16.3 

Fig. 5 

x 63 screvvs (A) ar1d washers (B) provided (see Fig. 3) Do not 
over-tighten these screws and do not release the mount 
until all screws are in place. Ensure that the mount remains 
level after all screvvs are secured. 

Part 2 - Attaching the Mount Arms to the Display 

IMPORTANT! Use extra care during this part of the installation. 
lf possiblc, avo id plocir1g your display facedown as it may 
damage the viewing surface. 

NOTE: This mount comes with a selection of different screvv 
diameters and lengths to accommodate a wide variety of display 
models. Not ali of the hardvvare in the kit will be u sed. lf you 
cannot find the appropriate scre\,v size in the kit provided, co11sult 
the manufacturer of your display for more information 

O Detern1ine the correct length of scre\1\1 to use by examining 
the back of your display: 

O lf the back of your display is flat and the mounting holes 
are flush with the surface, you will use the shorter screws 
(D, F or H) from the hardware kit. 

Q lf the back of your display is curved, has a protrusion, or if 
the mounting holes are recessed, you will need to use the 
longer screvvs (E, G or 1) and may also need to use the 
spacers (1<). 

Part 2 - Attaching the Mount Arms to the Display (continued) 

8 Deteri11ine the correct diameter of screvv to use by carefully 
trying one of each size (M4, 1\/16 and M8) from the hardware kit. 
Do not force any of the screws - if you feel resistance stop 
immediately and try a smaller diameter screw. 

'i 

'i 
® 

8 Attach the mount arms to the back of your display using the 
scrcws idcntificd in stcps 1 and 2 (see Fig. 6): 

O lf you are using the 1\/14 or M6 screws you will also need to 
use the M6 washers (J) M8 screws do not require vvashers. 

Q lf you are using the longer screws on a display with a 
curved or recessed back, you may also need to use the 
spacers (1<) Use one spacer or two spacers stacked as 
needed. Only use a spacer if necessary. 

NOTE: Make sure the mount arms are attached \,vith the tilt 
n1echanisms facing outward, exactly as shown in the 
illustration (see Fig. 7). Othervvise, the tilt function cannot be 
accessed. 

• 
o 
o 
o 
o 
o 
o 
o 
o 
o 
o 
o 
o 
o 
o 

íl 

Part 3 - Final Assembly 

o 
o 
o 
o 
o 
o 
o 
o 
o 
o 
o 
o 
o 
o 
o 

íl 

O Check to make sure the tilt mechar1isrn is fully tightened. lt 
can be tightened using the long Allen key (L) provided in the 
hardvvare kit. 

' 

Part 3 - Final Assembly (continued) 

8 V\/ith the help of another person, carefully lift your display and 
place it on the mount. Do not release the display until the 

mount arms have securely hooked onto the mount. 

8 Make sure the safety locks have successfully engaged by 
gently pushing up on the display. You should not be able to 
remove the display from the mount. 

O lf the pi as tic tabs hang belovv the bottom of your display they 
can be trir,,med with a knife or looped back and tucked into 
the rubber ri11g located on each tab 

8 lf you need to ren1ove the display from the mount, pull the 
plastic tabs located at the bottom of the mount arri-1s down 
and then forvvard (avvay from the wall) to disengage the safety 
locks With the help of another person, carefully lift the display 
fron1 the mount. Return the tabs to their original position by 
pulling them dovvn and pushing them backwards. 

O To change the tilt angle of your display, hold the display firmly 
in place and loosen the tilt mechanisms using the long 1\llen 
key (L) from the hardware kit (see Fig. 8). fv1ove your display to 
the desired positior1, and then re-tighten the tilt mechanisms. 
lf your display is in the non-tilt position, you will need to push 
up gently on the display before you can move it. Do not 

release the display until both tilt mechanisms are firmly 

tightened. 

f) Periodically clea11 your mount \i\1ith a dry cloth. lnspect all
screws and hard,Nare at regular intervals to ensure that 110

connections have beco111e loose over tin,e. Re-tighten as
needed.

º� .� 
o o 

o o 

o o 

o o 

o o 

o Jl. 
• 

o Jl. 
• 

f o o 

I=º

!'!,,..== == o 'u=
o o 

o o 

o 
D 

o 

o o 

o o 

� 
� 

� 
I�== �11� = 

� 

== 
1 

íl �� �� 



lí 
1 

77 

35-400Mtv�
�2�

o o 
o o 
o o 
o o 
,,...... 

,40, 
,,...... 

'-1 '-1 

o o 

� o o 
o o 

e ) e => e ) e ) e ) e ) o o e ) / 
(§ o

o o 
o o 
o o 

30-400MM o o 
2'�º

-

� � 

'-

(§ 
( ) => ( ) ( ) ( ) ( ) o ( ) =-

� 

-

,...., 

íl ..... 
"--

� 1 � 


	or02300-01
	or02300-02



